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QUESTION 1

Which of the following defines the expected results of a test?
A. Test case specification.

B. Test design specification.

C. Test procedure specification.

D. Test results.

Correct Answer: A

QUESTION 2

With which of the following categories is a test comparator tool USUALLY associated?
A. Tool support for performance and monitoring.

B. Tool support for static testing.

C. Tool support for test execution and logging.

D. Tool support for the management of testing and tests.

Correct Answer: C

QUESTION 3
Given the following fragment of code, how many tests are required for 100% decision coverage?

discount = 0 order_quantity=0 real order_quantity if order_quantity >=20 then discount = 0.05 if order_quantity >=100
then discount = 0.1 end_if end_if

A. 3.
B. 4.
C.5.
D. 2.

Correct Answer: A

QUESTION 4

A thermometer measures temperature in whole degrees only.
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If the temperature falls below 18 degrees, the heating is switched off. It is switched on again when the temperature

reaches 21 degrees.

What are the best values in degrees to cover all equivalence partitions?
A. 15,19 and 25.

B. 17, 18, and 19.

C. 18, 20 and 22.

D. 16, 26, and 32.

Correct Answer: A

QUESTION 5

Which of the following would you NOT usually find on a software incident report?
A. The name and/or organisational position of the person raising the problem.

B. Version of the Software Under Test.

C. Suggestions as to how to fix the problem.

D. Actual and expected results.

Correct Answer: C

ISEB-SWTINT1 PDF ISEB-SWTINT1 VCE
Dumps Dumps

ISEB-SWTINT1 Practice

Test

ISEB-SWTINT1 PDF Dumps | ISEB-SWTINT1 VCE Dumps | ISEB-SWTINT1 Practice Test 3/3


https://www.geekcert.com/iseb-swtint1.html
https://www.geekcert.com/iseb-swtint1.html
https://www.geekcert.com/iseb-swtint1.html
https://www.geekcert.com/iseb-swtint1.html
https://www.geekcert.com/iseb-swtint1.html
https://www.geekcert.com/iseb-swtint1.html
http://www.tcpdf.org
https://www.geekcert.com/iseb-swtint1.html
https://www.geekcert.com/iseb-swtint1.html
https://www.geekcert.com/iseb-swtint1.html

